bWWdY?

CU3ML3NLW OrbpUdb3NPra-3vb MNM-Mp LLPAP
LUOP3UY <nfwsv-pp UY.UY-UBP
NPMCAKr-u

ca3w3abp cvbpudb3NpPra-3ub LNMAIP uupap
L®P3LUY CLU W3 bHAP MY.MS-UbMNP 2022 ra-y.munbp bY3biTPbPP
2-p P4, 98- npncilb nbg onNeonAMP3MPDb Yasnpbunp

LULLPD
Mbhw1wp||b[rm[  «bnpquan|u[  |npwi[w)wb npTbpf Mundl]»  <mywwnwidgp
Cwwnpwbybtt?wb opbbp[n 33-pp. Wnrmwen 1-ib 1mwmnd 3-pp 1|bInt[" <nywuunnip
<wbpwa)btn1[Qw1| Ynat Mwpr* UngpTtud Uuntwl*pin W1jwe|.widpl| npn2nyt
1.<wwuunnid <wnpwpbdiruplwq| Unat mupup Uudtneg Hwnwdp|n nwce|.wirm 2022
[O1|npwid p.bljnblpbp[t 2¢ |[a[n] 98-U. nprrfwb b2 1|wuunpb][ dnpnpt*nd"' npriwb
Hun[bdw8 1-p Nwununtb[ 17p |wdwc].pni.[I]W11p:



<m|b[w6 1

Ovprvch HaBlLuidit vl
2022 |<Hjutudd rl.bljlinblipbp|l 2¢d p[H| 98 - II nprwm
dnd. 2023|3. ubuThblpbpjt 12 - Il np.

«1MundpTw1| bun*wdrd pbwl|wpwl|1|bp|n n bb[aw|wnruad<né&p1|bp|1 na)wmuwp1)Ow1|
c|.pwub|wl|» Hunwdpwdb  wnlnnpwdds 1)wer5wi|bpipMirwb w2luwtnrd bpl pwbudp,
Hwunn|'dwan1gw1 v bun*tnbwdm p-pnapwrwucpbpp

1. n.2(nwtnreobp[1 pwbudp' 47
2. <wuugppwan|.owl|p v bljw21nntwd1| p.pnapwrwudbpp’

Mw21nninudb
. Cwundpwdb
Cwund*d wbobubwn > * o wb A
b ¢ P {dun|np1®pp r>pnypwrwop whbnprhtu
(« r>punt)

3bopb0 1 200 000
3bopbld N bAwWw W 1 190 000
<W21|WO|WH 1 140 000
rArmpurwubpnu! |[|nwnp

6 140 000
bbpim|warng|™?
A-npbwdwp-ywijawa)wh 1 120 000
<w2pbrwp 1 120 000
51unbngwp 1 160 000
b|b1)tnp|'d 1 160 000
4wpnpr|. 3 140 000
3pwpnnp-1b[riw b A w finp 2 180 000

1 180 000

3buniywmnwp 0w 1| dpwpnpp.
180 000 6web[W1bwp

ru2ll 11 4 un v 1w 1|
b wpln wpnpp. p.pnapw2wd(n 30%d

Mudnd
Urwuuubpbbpp 1 140 000
fiw Mw | mppnr

1 120 000

Ow1|winuc|.np& 1 120 000
bnngpgnrt 1 120 000
Pw1|dnp 5 120 000

bwprwdobwp
m.r\pwwwplt pwta[np 4 150 000 “MMw fub

p.pnapw2wd|n 30% P



UY[planpwbpsuy [1b
w2[mwtwidp1U|[11] 6wnw]nr
lpw 1un[np/

CbM-LUU-bbC!

47

120 000

M-pLuw 1w 1|
puawpwpnuip'
opbldnd
nuMwbd-nb
Nwprw|[ U
Awdpru|

6 390 000



